Q.P. Code : 10062

[
[ Total Marks : 100
[ Total Marks : 80

3 Hours
2% Hours

[IDOL ]
[OLD ]

’ N.B. (1) Question No.1 is compulsory.
. (2) IDOL Students Solve any 4 questions from Questlon No.2to 8.
(3) OLD students solve any 3 questions from Question No. 2 to 8
(4) All Questions carry 20 marks each.

L. KrupaLtd. furnishes the followinginformation:b o - 20
~ Balance Sheet as at

Particulars 31-3-13 31-3-14
- Equity share capital 1,50,000 2,50,000

10% Preference share capital 50,000 -

" 12% Debentures 1,00,000 50,000
General Reserve 20,000 30,000
Profit and Loss A/c 10,000 35,000
Share premium | - - 10,000
- Secured loans 50,000 2,30,000
Unsecured loans 1,00,000 25,000
Provision for taxation 20,000 40,000
Proposed dividend 27,000 50,000
Sundry creditors ~2,33,000 - 3,33,000
Bill payable 30,000 10,000
7,90,000 10,63,000
~ Fixed assets (at cost) 2,65,000 4,55,000
Investments | 7.5,000 | -
Sundry debtors 2,07,000 2,52,000
Bills receivable - - 15,000

Stock 2,03,000 2,67,000
Cash and bank balances 30,000 54,000
" Prepaid expenses © 10,000 20,000

7,90,000 10,63,000
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Addltlonal Information

1. Investments held as long term were disposed off at a profit of Rs. 12 500.
2. A machinery having original cost of Rs. 50,000 on which depreciation was
provided at Rs. 35,000 was sold at a loss of Rs. 2,500. ‘ '
3. Another machinery costing Rs. 26,000 having WDV Rs. 2,500 was scrapped
and written off to profit and loss account.
“4. Provision for taxation made in last year has been paid off.
5. Thedirectors have proposed dividend on equity share capital at Rs. 50,000.
' The preference shares were redeemed at the beginning of the year. |

You are required to prepare a statement of changes in working capital and
funds flow statement for the year ended 31 March, 2014,

2. (a) Laxmi enterprises engaged in the production of plastic chaxrs provides you the 15
followmg data and asks you to prepare the cash budget for three months from April
to June, 2010 and give your comments on the cash position and credit policy of

~ the company.
Months | . Sales (Y) Purchases (Y) Overheads (?‘)
January 1,00,000 63,000 | 25,000
February 1,50,000 70,000 30,000
March 1,25,000 82,000 32,000

‘ ‘.;April.. 1,28,000 85,000 33,000
May 1,90,000 1,00,000 . 40,000
June - 2,25,000 1,07,000 45,000

1. Company has the policy that purchases 10% and sales 20% are for cash.
Debtors are allowed the credit period of half a month and they get credit of
1 month from the suppliers of goods. |

3. Qverheads are paid regularly every month.

4. (fzfompany has cash balance of Rs. 20,000 on 1*' April, 2010.

2. (b) What are the different types of costs related to Receivables Management. ‘ 5

3. (a) From the followihg details calculate : ; 12
(i) Profit Volume Ratio. | :
(ii) Margin of safety.
(iii) Break even point in units.
(iv) Break even point inrupees.

HT-Con. 2326-15. | TURN OVER



Q.P. Code : 10062

. v 3 .
(v) The sales required to earn a Profit of Rs. 5,00,000.

Particulars - ' - : R
Sales 1,00,000 units , ~26,00,000
Material cost , ~5,20,000
Wages - ' 4,50,000
Factory Overheads 30% fixed . 1,00,000
Administrative overheads 50% fixed | : 8,00,000
Selhng overheads 25% fixed ; ' 4,00,000
(b) What is break even point ? Explain its 11m1tat10ns _ | 8

4, (a) From the followmg details prepare comparatwe balance sheet and comment on the 12

financial position of the company.

‘| Particulars 315t March, 2013 31 March, 2012
Building | 4,65,000 4,380,000
Plant 3,75,000 4,05,000 -
Equipment 55,800 1,51,500
Cash at bank 1,53,000 1,23,000

. Customers 1,98,000 2,11,500

| Bills receivables 91,200 - 1,19,000

Prepaid expenses 12,000 10,000

| 13,50,000 15,00,000

Share capital 9,00,000 9,00,000

; Reserves and surplus 1,44,000 1,65,000
.| Creditors 15,000 ©2,70,000
 Bills payable 2,41,500 ©1,20,000
“Outstanding expenses 49,500 45,000
13,50,000° 15,00,000

- (b) What do you mean by common-size statements ? -

Explain its merits and demerits.

5 (a) Mr. Rohan éxpects to produce 2,00,000 units of a product in 2011-12. The article will 12
- sell for Rs. 120 per unit of which Rs. 12 per unit will be the profit. You are required to -
compute working capital after taking following information into consideration: '

y (i) Raw materials will be 50% of the cost, wages 25% and the balancing being

overhead cost.

(ii) Stock of raw materials required is equlvalent to 6 weeks productlon need

and of finished goods equal to 8 weeks of product1on
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- (iii)  Production process takes 4 weeks.

(iv) 30% of sales are on cash basis and customers are followed 10 weeks credit.

Q.P. Code :
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(v) Time lag for payment of wages is 2 weeks and overheads is 3 weeks. -
(vi) Itis des1red to have 20% safety margin of remaining working cap1ta1

(b)) What are the different types of workmg cap1ta1 ? .
6. (a) Explain the main functions of a finance manager. 10
(b) Explain the various income statement ratios. 10
7. Write short notes on any four of the following : 20
"~ (i) Debentures.
- (ii) = Fixed and Variable cost.
(ii1) * Short term sources of Finance.
(iv) Need for capital budgeting.
(v) Ploughing Back of Profits.
(v1) Advantages of cost accountmg 10
8. (a) Your company ‘wishes to buy a machme having the cost 0of Rs. 25,00,000. The life
: of the machine is 10 years and the scrap value would be Rs. 50,000.
~ The average annual net profit before tax would be Rs. 2,50,000. The 1n01dence of
" income tax would be 35%. Assuming depreciation is provided on straight line
method, calculate: ‘
_ ‘1. Payback period. 2. Paybackprofitability. 3. Average rate of return.
(b) Prepare Vertical Trend Analysis of Food Ltd. considering 2009 as base year:
, 10
Particulars 2011 2010 2009 L
1') Revenue: Sale form company 12,650 12,100 11,000
operated Restaurants
"|° 2) Operating Costs and Expenses
Food o 3,914 3,838 3,800
Payroll and employee benefits 2,929 2,958 2,900
Other,administrative expenses 1,818 1,782 1,800°
Finance expenses 200 200 200
| - Selling expenses 816 824 800
3) Operating Income 2,973 2,498 1,500
‘4) Non Operating expenses 60 55 S0
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